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#OK to post
#Anusha Nagar, Homework 14, 10.25.2021

#Problem 4
read "C://Users/an646/Documents/M 14 .txt"

#k =3, n=922, 539, 782, 579, 583
RevOp(922, 3)

693
RevOp(693, 3)

594
RevOp(594, 3)

495
RevOp(495, 3)

495

#Fixed point at 495 -> cycle: [495,495]
RevOpTr(922,3)
[922, 693, 594, 495, 495 ]

RevOp(539, 3)

594
RevOp(594, 3)

495
RevOp(495, 3)

495

#Fixed point at 495 -> cycle: [495,495]
#Demonstrate using RevOpTr for remainder:
RevOpTr(782,3)

[782, 594, 495, 495 ]

RevOpTr(579,3)
[579, 396, 594, 495, 495 ]

RevOpTr(583,3)
[583,495, 495

RevOpTr(2193, 4)

[2193, 8082, 8532, 6174, 6174 ]

RevOpTr(4890, 4)

[4890, 9351, 8172, 7443, 3996, 6264, 4176, 6174, 6174 ]

RevOpTr(6890, 4)

[6890, 9171, 8532, 6174, 6174 ]
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#We see that there is only one fixed point for both k =3 and k=4. For k=3, it is at 495, and for k=

4, itisat 6174
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